EARAROBREBRT —5 XN—ZXBISH—F 202318228 (B) 1EUVE4H

M somemm 28052 YS5R4mE (BS) (50 <8 EREEEEE
[FE=] 1 7% :15,500,000 3 237 :6,200,000 37 :3,900,000 @  43:2,300,000 3 53 :1,550,000 4
B %5 FRERS M ME | BF (FR) |94L EF= | @8I | £3F | SEM | AKX | #E | #RE (FiR) / B / £ERS
S A 4 | SHER 2:41, 10-10-9-5 | 34.7100.9 | 2 | dp4 |AEE ()
118|12| XM ¥3awJLy # 57.0 (_)6 01055 | 3 02 (g) HAAIFIE
RT—WRYYT BXAYaDRVF S
S S5 | smEA 1. 895 |35.1] 97. B (35)
2B 3 | SAFTU—Dz [B] Bl 8% 22‘21)9 FEIS | B T3 (4_93 (|) HABL—RK—2R
RiI9PRIVIA B:ITFV—NADzA #Har77—4A
Y75 o4 | BRER 2:42.0 13-13-1-1 | 36.0| 94.6 | 4 | 426 |EEESA )
3 2| =TSR 55.0 @e) g | @R FSITLYRIST-ST47

R:O=ILRYwT BRARTLET EvI Uy RT7—L

3 FERFRRA : -1-3- WIRE (RR)
4111 Hh/YvO—1A 4 6 o ég% 1-1-3-2 [ 35.8| 9%.4 | 5 zg Eﬁ%
R:0—kpr307 §:yvLOvh— /=YY IT7—L
» o ~ 4 | BEFEh 2:42.0 4-4-6-10 | 35.4| 9.8 6 48 | HERE (58
5 g | 7O0—YR—> # 570 NF) ©) | B
RIIET7RA7 B:A—bTL—) A
— 4 5 | EEBT 2:42.1 12-12-12-11| 34.9 | 95.8 | 10 510 | EHES RF)
61813| ZILN=2+ 5.0 (3/4) @12 | IRLT Y
R:FRIAVL—Y SRy FPqaY g—L—-JvN\Y - T7—LERE
s °o=~m Rt 142 -8-6- ) . SBR &R
717111 YRS ARSZY 7 "4 50 2(94%:)2 $H65 | B7) A8 1 (i?g) BT
R:TSvII4A R B:XIORTSLVI— L4099 45T77—14
P~ . SFOSKER 4. ~4-6- . . ZHAE (FER)
N EASZ ESA ) "5 %0 2(7423)2 aaeS | BT 8 ?ff) SRS HIEE
RiN—EVIvy— B:EYO-—TJOVKR J=YUT7—L
— S 4t 5 | dERR— 2:42.4 2-2-3-4 |36.2| 90.7 8 470 | RE—F (ER)
9 5| ®@N—=YFTVvhH 58.0 (3/2) “6) #) CHEVALATTACHE
RIN=YITSA B:N\DAF7rO-X T s

9| RARIAG AT # o4 | AlEs te 6622 36.3| 9.7 | 7 | 486 |KFEL (KR

10 ¢ay | W) BSTLYRIST 5747
RiT=ILRYY T B:RARYVILYI—) EvIUy RI7—LA
~ = —3~ st 5 | MERS 2:42.6 3-3-5-5 [ 36.2] 88.7 | 13 | 424 |RBJIIEK R
1{z|10 71¥==3% 5.0 (1 178) o | @ 51y
R:FI/VIvITF4 BEALSTU—TA ARET2—T7—L
<, = aw s 142, -10-12- . . EXE (EF)
1 4| PYF—Try o 4 5 e 2(74%1)7 10-10-12-11| 35.6 | 89.7 | 11 (4+728) =l 5
RiFAIXIv— BRy M FvF v /=3I r—1L
- = EHBE 2:42. -7-9-11 . . 12 FHE—BB =)
13/5| 7| ®RACTSZ [B] 650 (3/4)B o7 %0 8.0 ?ﬁg B) AE—RIT7—N
RiFRXF BISAATSR AE—RT7—L
[ BN
Eh' 47.2-35.6

NOYIA L | 12.7-11.4-12.6-12.6-12.9-13.1-13.8-13.0-12.3-11.6-11.6-11.9-12.1

@ 11— —&@BIE(I

13—7— |1.5,10(6.8) (7,9) (3,11) (4,12)13,2

Adl=5r= (¥1,5)10(6,8)9,7(3,11) (4,12)-13,2

I=zr= (*2,9) (1,5)10(6,8,11) (7,3,12) (4,13)

43—F— | 2(1,9)5(6,10,11,3,12)8(7,4,13)

o L RE

& s 12 650 | | DA K 3-12 770 | | # &= 3-8 2,150M | | 3:EE 2-3-12 5,200H

& B 12 230F 2-12 910 | | &5 &= 3-12 2,530 | | &= 12-3-2 29,160/
3 180M 2-3 680F | | 5 B 12-3 4,650
2 2204

ABIC OV TRUTEREERRODDZE. THRIIZEL.



